### Unit List

### Revised - V2 - 02/10/2020

## **Twelfth Night**

### CMFT Performance Theatre

Designer: Franny Sebastiano

Unit #	Description	Des. Plate	Notes
2	Show Deck Seating Units	08	Includes- - (22) Stock wood platforms creating a 3/4 thrust stage with scenic treatment directly on deck. - Legged via stock chamfered 2"x4" legs. - Hard fascia with same scenic treatment as deck. Includes- - Approximately 3 units of seating for a total of 25 platforms.
			- Includes railings, step units, and fascia.
3	Mural Wall	01	<ul> <li>Includes-</li> <li>Approximately 42'-6"w x 16'-0" h stretcher frame with a FR scenic painted muslin drop on one side with hidden webbing, grommets, and ties on top, and unfinished edges tacked to frame in the space during install.</li> <li>Includes stock black masking to cover the frame and drop on the US side/ in the 'Heartbreak' room.</li> <li>Includes concealed door entering into the heartbreak room from the playing space, with stage management assisting in paging the masking during the show.</li> </ul>
4	Tree	06	<ul> <li>Includes-</li> <li>Bent 1"x1" steel tubing structure for the approximately 6'-0" diameter trunk.</li> <li>DS half of the structure is wrapped in TBD stretch fabric via tacking strips top and bottom and muslin around the sides and back. A doorway in the back accomodates an actor entering the structure and stretching the fabric.</li> <li>Branches are backed and cored with plywood, ribbed with circular extruded foam , and wrapped in FR scenic treated muslin fabric. 1"x1" steel box tubing will provide support to the branch and a rigging connection.</li> <li>Most/TBD branches are picked to the grid via 1/8" aircraft cable.</li> <li>Bottom branches/roots are to support being sat on by the actors.</li> <li>A swing will be rigged from the grid and hung behind the branches of the tree falsely rigged via a rope to a branch.</li> </ul>
5	Mirror Room	03	<ul> <li>Includes- <ul> <li>(2) Walls of (5) 4'-0" x 8'-0" and (7) 3'-0" x 8'-0" Mirrorlite panels supported by frames attached to a pipe and base structure.</li> <li>Lightbulbs provided and installed by Lighting Designer will be installed into the Pipe and Base grid structure. Lightbulb and grid spacing TBD with Scenic Designer and Lighting Designer.</li> <li>Black scenic treatment applied on the cement floor from exterior to interior doorway.</li> <li>Black masking will be provided to conceal door in entrance to immersive room #2.</li> </ul> </li> </ul>

### Unit List

### Revised - V2 - 02/10/2020

# Twelfth Night

### CMFT Performance Theatre

Designer: Franny Sebastiano

Unit #	Description	Des. Plate	Notes
6	Heartbreak Room	04	<ul> <li>Includes -</li> <li>-Approximately 32'-0"w x 8'-0" h stretcher frame with a FR scenic painted muslin drop with unfinished edges tacked to the frame in the space during install.</li> <li>- Includes stock black masking to cover the frame and drop on the US side to prevent light leak.</li> <li>- The word "heartbreak" painted on the face of the drop with a heavy backpaint blocking light from showing through the back.</li> <li>- Lighting sourced and provided by Lighting Designer.</li> </ul>
7	Fabric Room	05	Includes- - (18) Sewn chiffon fabric tubes hanging from the grate of the gallery via stock tie line. - Sewing done via props.

### **Bid Summary**

V2 - 2/10/20

# **Twelfth Night**

# CMFT Performance Theatre

Designer: Franny Se	bastiano
---------------------	----------

Unit #	Description	Cost Per Unit	Shop HRs Labor	Install HRs Labor	Labor HRsTotal
1	Show Deck	\$229.12	80.0	43.0	123.0
2	Seating Units	\$0.00	0.0	86.0	86.0
3	Mural Wall	\$544.80	142.0	63.5	205.5
4	Tree	\$2,338.54	236.0	109.0	345.0
5	Mirror Room	\$332.30	90.0	84.0	174.0
6	Heartbreak Room	\$207.20	48.0	56.5	104.5
7	Fabric Room	\$45.00	0.0	48.0	48.0
TOTAL	-	\$3,696.96	596.0	490.0	1086.0

### Revised - V2 - 02/10/2020

## **Twelfth Night**

	Plate	Unit	Notes
1	08	Show Deck	Includes- - (22) Stock wood platforms creating a 3/4 thrust stage with scenic treatment directly on deck. - Legged via stock chamfered 2"x4" legs. - Hard fascia with same scenic treatment as deck.

	Material		Material Totals	\$229.12
Price/Unit	Quantity	Material Cat.	Material Specific	
\$0.00	22		WoodDecks	\$0.00
\$0.00	132		WoodLegs	\$0.00
\$13.44	8	Sheetgoods	Masonite .25x48x96 Single Temper	\$107.52
\$60.80	2	Sheetgoods	AC FR Plywood .75x48x96	\$121.60

	Production La	abor	Production Labor Total	176.0	
Hours	People	Project	Project		
SHOP			Shop Labor Total	80.0	
6	4	Pulling Decks	ulling Decks		
6	1	Pulling Legs/ Cut	ting	6.0	
2	2	Pulling step Units	Pulling step Units		
2	3	Placing Masoe/ F	Placing Masoe/ Fascia on paint deck for scenic treatment		
4	4	Layout Deck on F	16.0		
6	4	Build Step Units	Build Step Units		
PNT			Paint Labor Total	96.0	
21	4	Scenic treatmen	Scenic treatment of decks/maso		
6	2	Touch ups		12.0	

Materials Total	\$229.12
Labor Total	176.0

### Revised - V2 - 02/10/2020

## **Twelfth Night**

	Plate	Unit	Notes
2	01	Seating Units	Includes- - Approximately 3 units of seating for a total of 25 platforms. - Includes railings, step units, and fascia.

	Material		Material Totals	\$0.00
Price/Unit	Quantity	Material Cat.	Material Specific	
\$0.00	25		Platforms	\$0.00
\$0.00			Legs	\$0.00
\$0.00			Railings	\$0.00
\$0.00	7		Step Units	\$0.00

	Production L	abor	Production Labor Totals	0.0
Hours	People	Project		
SHOP			Shop Labor Total	0.0
				0.0
PNT	PNT Paint Labor Total			
				0.0

Materials Total	\$0.00
Labor Total	0.0

Revised - V2 - 02/10/2020

# Twelfth Night

	Plate	Unit	Notes
3	01	Mural Wall	Includes- - Approximately 42'-6"w x 16'-0" h stretcher frame with a FR scenic painted muslin drop on one side with hidden webbing, grommets, and ties on top, and unfinished edges tacked to frame in the space during install. - Includes stock black masking to cover the frame and drop on the US side/ in the 'Heartbreak' room. - Includes concealed door entering into the heartbreak room from the playing space, with stage management assisting in paging the masking during the show.

	Material		Material Totals	\$544.80
Price/Unit	Quantity	Material Cat.	Material Specific	
\$795.00	0.5		Soft Goods	\$397.50
\$0.85	75	Stickgoods	1x3x16	\$63.90
\$0.00	4		Half Boros	\$0.00
\$0.00	0		Lineset in D	\$0.00
\$19.20	2	Sheetgoods	Lauan.25x48x96	\$38.40
\$0.00	3		Door Hinges	\$0.00
\$0.00	52 ft		Meta Steel Framing	\$0.00
Rigging	Quantity	Туре	Description	
\$45.00	1	Spool of Gac		\$45.00

	Shop La	bor	Shop Labor Totals	142.0	
Hours	People	Project			
SHOP	-		Shop Labor Total	142.0	
6	4	Deconstruct Meta	Decks	24.0	
15	4	Weld/Bolt Meta De	Weld/ Bolt Meta Decks to create truss		
6	2	Build Door	Build Door		
2	3	Pull Flat Truss fror	Pull Flat Truss from D-Trap		
1	1	Cut 1x3 to length	Cut 1x3 to length		
3	1	Connect Half Bord	s to Truss	3.0	
6	2	Insert Door to fram	ne	12.0	
6	4	Add Tacking strip	Add Tacking strip to Sides		
PNT			Paint Labor Total	0.0	
		Scenic treatment	of the sky	0.0	

Materials Total	\$544.80
Labor Total	142.0

Revised - V2 - 02/10/2020

## **Twelfth Night**

	Plate	Unit	Notes
4	06	Tree	<ul> <li>Includes-</li> <li>Bent 1"x1" steel tubing structure for the approximately 6'-0" diameter trunk. DS half of the structure is wrapped in TBD stretch fabric via tacking strips top and bottom and muslin around the sides and back. A doorway in the back accomodates an actor entering the structure and stretching the fabric.</li> <li>Branches are backed and cored with plywood, ribbed with circular extruded foam , and wrapped in FR scenic treated muslin fabric. 1"x1" steel box tubing will provide support to the branch and a rigging connection.</li> <li>Most/TBD branches are picked to the grid via 1/8" aircraft cable.</li> <li>Bottom branches/roots are to support being sat on by the actors.</li> <li>A swing will be rigged from the grid and hung behind the branches of the tree, falsely rigged via a rope to a branch.</li> </ul>

	Material		Material Totals	\$2,338.54
Price/Unit	Quantity	Material Cat.	Material Specific	
\$50.00	27	Sheetgoods	AC Plywood .5x48x96	\$1,350.00
\$100.00	1		Extruded foam 1,100ft	\$100.00
\$16.40	9	Steel	BT 1x1x16ga	\$147.60
\$45.00	2		Wiggle wood	\$90.00
\$5.95	75		Muslin for Branches	\$446.25
\$29.69	1	Steel	BT 1.25x1.25x16ga	\$29.69
\$30.00	1		Plumbers strap	\$30.00
\$100.00	1		Sculpt-a-coat	\$100.00
Rigging	Quantity	Туре	Description	
0	0		Swing Gac- 1/4	\$0.00
45	1		Branch Gac - 1/8 - spool of 250'	\$45.00

	Production	n Labor	Production Labor Totals	300.0	
Hours	People	Project	Notes		
SHOP		•	Shop Labor Total	236.0	
4	2	Cut Tubing		8.0	
12	3	Bend Tubing		36.0	
12	2	Weld Tubing		24.0	
6	2	Weld Armiture	Veld Armiture		
2	4	Branches laid out	Branches laid out to be pounced		
10	4	Cut Branches out	Cut Branches out - both elevation and cores		
15	4	Build Branch Supp	oort W/ Foam & Cores	60.0	
10	2	Wrap Branches		20.0	
3	2	Install rigging hard	dware for branches	6.0	
3	2	Install Connection	Points for Branches	6.0	
4	4	Test/Wrap Trunk		16.0	
PNT	-		Paint Labor Total	64.0	
8	2	Pounce Branche	S	16.0	
6	4	Paint Foam		24.0	
6	4	Paint Fabric		24.0	

Materials Total	\$2,338.54
Labor Total	300.0

#### Revised - V2 - 02/10/2020

## **Twelfth Night**

	Plate	Unit	Notes
5	03	Mirror Room	Includes- - (2) Walls of (5) 4'-0" x 8'-0" and (7) 3'-0" x 8'-0" Mirrorlite panels supported by frames attached to a pipe and base structure. - Lightbulbs provided and installed by Lighting Designer will be installed into the Pipe and Base grid structure. Lightbulb and grid spacing TBD with Scenic Designer and Lighting Designer. - Black scenic treatment applied on the cement floor from exterior to interior doorway. - Black masking will be provided to conceal door in entrance to immersive room #2.

	Material		Material Totals	\$279.80
Price/Unit	Quantity	Material Cat.	Material Specific	
\$0.00	4		boombases	\$0.00
\$0.00	2		21'Pipes	\$0.00
\$0.00	0		15ish Pipe - for across	\$0.00
\$47.50	4	Sheetgoods	AC Plywood .5x48x96	\$190.00
\$0.00	4		10' pipe for uprights	\$0.00
\$0.00	24		Stock Ubolts	\$0.00
\$7.46	5		Cushioning foam for caps	\$37.30
\$0.00	10		Cheeseboroughs	\$0.00

	Shop Lal	oor Shop Labor Totals	138.0
Hours	People	Project	
SHOP	•	Shop Labor Total	90.0
6	1	Cut list	6.0
9	2	Mirror Panel Top Construction	18.0
9	2	Mirror Panel Bottom Construction	18.0
12	4	Grid Tech	48.0
PNT		Paint Labor Total	48.0
6	4	Top Panel	24.0
6	4	Bottom panels	24.0

Trucking / Delivery			Trucking Totals	\$52.50
Price/Unit	Quantity	Description		
\$52.50	1	Gas for Mirror Pic	ck-up	\$52.50

Materials Total	\$332.30
Labor Total	138.0

Revised - V2 - 02/10/2020

## **Twelfth Night**

	Plate	Unit	Notes
6	04	Heartbreak Room	Includes - -Approximately 32'-0"w x 8'-0" h stretcher frame with a FR scenic painted muslin drop with unfinished edges tacked to the frame in the space during install. - Includes stock black masking to cover the frame and drop on the US side to prevent light leak. - The word "heartbreak" painted on the face of the drop with a heavy backpaint blocking light from showing through the back. - Lighting sourced and provided by Lighting Designer.

Material			Material Totals	\$207.20
Price/Unit	Quantity	Material Cat.	Material Specific	
\$90.00	1		Muslin	\$90.00
\$50.00	1		Paint	\$50.00
Stock			Masking behind the wall	\$0.00
\$0.85	32		1x3	\$27.20
Props			Foam for catching knives	\$0.00
\$20.00	2		Tacking strip	\$40.00
				\$0.00
Rigging	Quantity	Туре	Description	
\$0.00	11.25 FT	Dead Hang	Stock	\$0.00

Shop Labor		Shop Labor Totals	96.0
People	Project		
		Shop Labor Total	48.0
2	Deconstruct Meta	Decks	4.0
4	Weld/ Bolt Meta D	ecks to create truss	24.0
2	Pull Flat Truss from	n D-Trap	2.0
1	Connect Half Bord	os to Truss	2.0
4	Add Tacking strip	to Sides and top	16.0
			0.0
	•	Paint Labor Total	48.0
	4 Paint Drop		48.0
	2 4 2 1 4	2 Deconstruct Meta 4 Weld/ Bolt Meta Do 2 Pull Flat Truss from 1 Connect Half Borc	Shop Labor Total         2       Deconstruct Meta Decks         4       Weld/ Bolt Meta Decks to create truss         2       Pull Flat Truss from D-Trap         1       Connect Half Boros to Truss         4       Add Tacking strip to Sides and top         Paint Labor Total

Materials Total	\$207.20
Labor Total	96.0

### Revised - V2 - 02/10/2020

## **Twelfth Night**

	Plate	Unit	Notes
7	05	Fabric Room	Includes- - (18) Sewn chiffon fabric tubes hanging from the grate of the gallery via stock tie line. - Sewing done via props.

	Material		Material Totals	\$45.00
Price/Unit	Quantity	Material Cat.	Material Specific	
\$0.00	0		Fabric from A trap	\$0.00
\$30.00	1		Milnery Wire- 19g	\$30.00
\$15.00	1		Thread	\$15.00
Rigging	Quantity	Туре	Description	
\$0.00		Dead Hang	Stock Tie line	\$0.00

	Shop La	bor	Shop Labor Totals	0.0
Hours	People	Project		
SHOP	•		Shop Labor Total	0.0
6	2	Cut Fabric		Props
6	3	Sew Top & Bottom		Props
6	3	Sew Center Seam		Props
8	2	Hand stitch seam		Props
6	2	Install Wire		Props
6	2	Install tie line picks		Props
PNT	•		Paint Labor Total	0.0
				Props

Materials Total	\$45.00
Labor Total	0.0